CcC

1 2010
GENERAL STUDIES

Paper 1

Time : 3 Hours ] - Maxzmum Marks 300

INSTRUCTIONS

Each question is printed both in English and in Kannada. If
any confusion arises in the Kannada version, please refer to
the English Version of the questions.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must

be stated clearly on the cover of the answer book in the space

provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the
Admission Ticket.

Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as for as passibfe, exceed

the specification given for the question.
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PART A

Answer any two of the following questions in not more than

200 — 250 words each :

(a)

(b}

{e)

(d)

What were the differences in the ideas and programmes of the
Moderates and Extremists in the Indian National Congress ?

Briefly discuss the contrlbutlon of the Swaraj Party to the Indian
National Movement.

Assess the work of Sir M. Visveswaraiah in Mysore as Dewan,
keeping in view his slogan : “Plan, promote and encourage
developments”.

Discuss the echoes of 1857 Revolt in Karnataka.

Answer any four of the following questions in about 100 -120 words

each :

(a)

(b}

-

{c)

(d)

(e)

(f)

Summarise the early experiments of Gandhiji at Champaran, Kheda
and Ahmedabad.

Estimate the development of Vernacular Press in the second half of
the nineteenth century.

Briefly explain the rise of peasant uprisings in the latter half of
the nineteenth century.

Explain anti-colonial struggle in the Princely States of India.

Elaborate the British attempts at negotlated settlements after the
Second World War in India.

Write a note on the impact of Quit India Movement in Karnataka.

20x2=40

10x4=40
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3. Answer any fwo of the followmg questions in about 50 — 60 words each : .
5x2=10

(a) What do you understand by the concept of ‘Satyagraha’ as
propagated by Gandhiji ?

(b) What was India’s attitude to the Chinese occupatlon of Tibet in
1950 ?

(¢) Write a note on the economic progress made by Karnataka in the
post Independence era.

4, Write brief notes on all of the following in about 20 — 25 words each :
: 2x5=10

(a) Sir Mirza Isﬁail
(b) Brahmanetara Parishad
(c¢) Birsa. Munda Revolt
. (d} Coorg Insurrection : \

(e} Nehru Committee Report of 1928
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PART B

5. Answer any three of the following questions in about 200 - 250 words
“each : . 20x3=60

(a) Discuss the possible strategies to maintain peace and harmony in
the Kashmir valley.

(b) Discuss the options for eradicating Naxalism in the country.

(c) Discuss the implications of Indo-US nuclear deal in meeting energy
needs,

(d) What is Sting Journalism ?
(e) Is a ban on cow slaughter viable, even if necessary ?
(f) Would a new States Reorganisation Commission solve our

problems ?

6. Answer any five of the following questions in about 100 — 120 words
each : . 10x5=50

(a) Comment on the growing unrest in North Korea.

(b) Can the incredible achievements of Saina Nehwal be a lesson for
others ?

(¢) What, according to you, is the impact' of the recent stand of the
Central Government on Belgaum ?

(d) Discuss the salient features of Global Investors Meet of Karnataka.
(e) Why does not inflation in food prices benefit farmers ?
(f) Is linking major rivers of India feasible ?

(g) Should we legalise betting in cricket matches ?



(7] cC

o B
5. 39NS CIVRHIGOA [wdh TEMER woZoA.  BBodeomd LT 200 dow

250 ITnen QeTodTuiesd ! 20x3=60

() ®BOS FAIHY 0E Y WIHOSHY, PTBIART W3
AHToF BoBRLTIONNFRY, BB WUFA.

(b) BeBE FTLOMORT, IDAFOS DRDS () wohnvsy POD
3ede R

(© Biod engnvsy ZHGPSQ LP0S-0.W RAGoIO’ LHBT
TOBTINY LT} WA,

(d) BeDD TIJRCTED (_Sting'Journalism') eETeD ?7

(e) nwexd, dRerD, VTTZTTTR BB ODHBR OB ?

H ooy HIC RoFis O3 Bex wolenmbod I, REETID
oz ZE0d ?

6. YRS CIRRIEDH W@ DFNOH ev3dR. TBodsemd @IT 100 Sow 120
IENY  oSopOTE : 10x5=50

(8) V3T SROAIREE FHITHT BZ0S HOS e, WRHLEHTERY WS
(b) R STET ©TT SORVT G ETIEOEF TFRMD RI0ON HTNWERS ?

(c) 2Iwmd DO deo, RFETH RYEUT LTy oI Ded Cefetinivelialgelal
Do RYFOIS ?

(d) FReLTHd IRBT WNST BARTIUT WSREBE DBF, FTeTLTY
B0 23R, :

() ©EOR SN BEDTHOR DF GIOR LHERVTTOBOE, ?
() 2RC3E SEHD SONY Beeasdon FoDE TFE ?

(g) oY 3B Sog¥ Lelon, D™ wneewlesd ?

[Turn over



CcC : - {8)

7. Answer/write short notes on, any six of the following questions in about
50 - 60 words each - 5x6=30

(a) Knowledge Processing Outsourcing
(b) Cloud seeding
{c) Energy drinks

(d) Mention the major projects envisaged by the Karnataka
Government to overcome the power problems faced by the State.

(e) Highlights of XI Plan period with respect to Education and Health.
(f) Poverty amidst plenty
(g) Surrogate advertisements

(h) India’s chssession with fair complexion

8. Write brief notes on all of the following questions in about
20 - 25 waords each : : 2%x10=20

(a) Civilian deaths

(b) Base rate

(¢) Heritage trees

(@) Dawal Malik

(e) Women in Indian Army

(f) 3G Spectrum auction

(g) Fake encounters

(h) Akrama — Sakrama Scheme
(i) _Padma Vibhushan Award
@ GST
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PART C

9. (a) The break-up of the Indian Union Budget for a certain year is
shown at a glance in the table below :

How the Indian rupee came and went for a certain year

Receipt Paise |Expenditure Paise
Internal borrowals 24 Interests ' 26
Excise | ‘ 21 States’ share 15
Customs 156  |Central Plan : 14
Non-debt capital receipts 13 |Defence 13
Income Tax 7 |State & UT plans | 10
" |Corporate Tax 7  |Non-Plan Expenditure | 10
Borrowal from RBI 8 Subsidies 6
External borrowals 2 Non-Plan assistance to 6
State and UT
Governments
Other taxes 3
Total _ 100 _ 100

Draw pie charts to allow comparisons within and between receipts
and expenditures. Also write your main observations.

(b) ~A course of study has 2 tests, a mid-term examination and a final
examination. The teacher considers the final to be 5 times as
important as a test. The mid-term has thrice as much importance
as each test. Rani scores 54 and 66 in the tests, 80 and 70 in the
mid-term and final examinations respectively. What is her average
score ? How many grace marks should the teacher add to the final
examination score in order that the average rises to 75 ?

ugtes e L gt T DR T g e
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(¢) In a marriage hall, 120 marriages were held in a particular year.
The age distribution of the brides is as follows :

Age (years) Number of brides
18 -20 - - 12
20 - 22 30
22 -23 30
23 - 24 22
24 - 26 18
26 -28 -8

(i) Draw the less than type of cumulative frequency curve.
(1) Find the median from the curve.

(iii} Determine the maximum age among the youngest 30% of the
brides.

10. (a) For the data given below for two related variables X and Y,
compute '

(i)  the coefficient of correlation, and
(i1) = the coefficient of détermir}ation_ |

Interpret the results obtained.

X 2 3 5 4 11 5

Y: 20 25 - 34 30 40 31



(c)

10. (a)

{13} | f o CC

IES wod §BEY ry, INERPoTTY 120 HIND LB,
SEHTY SobAT Bowsd 81 FFF0E0

TODEY, (ESE&’FTT’;’Q) SN W’oaﬂé
18 — 20 12
20 — 22 _ 30
22 — 23 | 30 |
23 - 24 22
24 - 26 18
26 — 28 | 8

(i) Less than type Towe® e=3e SITHIY SN0,
(i) WBROET MeBoDIT By, FEBAMD.
(i) ©8 WESoHAT 30% FEHRY NOF SoDHY, FoRBAND. 8

X @) Y Q00 QU@ ®owodE IBANOT Towopiwod s IWR
BHYOHT BBYOBIRY, WYREL0E S IYNIPNYRY, SFTOE -

i) RITowor MOEIOF IR

(i) NPIETED TWBIOT

FRE FOT0INTRY TYSNA. 8
X : 2 3 5 4 11 5
Y: 2 925 34 30 40 31
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(b} The following table shows the distribution of 50 companies

(¢)

according to the percentage of dividend declared during 2009 -10.
Distribution of companies by dividend percentage

Percentage of dividend -| Number of companies

less than 10 5

10 -14 6

15-19 16

20 — 24 13

25 — 29 4

30 — 34 5

- 35-39 1
Above 39 0

Determine the following :

(1)  Percentage of companies with dividend below 20%.

(ii) Proportion of companies with dividend above 29%. |

(ii1) Number of companies with dividend between 15% and 29%.

(iv) Number of companies with dividend not less than 20%.

In a class, 56 students offered Physics, 32 students took Chemistry
and 44 students took Mathematics. Of these 21 took both
Chemistry and Mathematics, 19 toock both Chemistry and Physics
and 12 took both Physics and Mathematics. If 8 students offered all
the three subjects, find the total number of students in the class.
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Note : The English version of the instructions is printed on the front cover
of this question paper.
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answers written in a medium other than that specified in the
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Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.

DFex Towd : & HeeyoE eI FYE GRIOTOTL, & TF & Fow Fedod
DT STOTNS,



A i I Bl e

DD (2)

PART A

1. Answer any one of the following questions. Restrict your answer to

200 - 250 words each : ' 20x1=20
(a.) “Indian Federalism is the simultaneity of two processes — the
unionization process and the regionalization process” ~ (Bishnu

Pathak). Discuss.

(b) Give an account of the experiment of decentralising governance in
Karnataka.

2. Answer any three of the following questions. Restrict your answer to
100 - 125 words each : 10x3=30

(a) Assess the importance of the Preamble of the Indian Constitution,

(b) Explain the method of Election of the President of India by
illustrating the three formulae. What are the ‘reasons behind the
adoption of an indirect method of Election ?

(c) Write a note on the objectives of the Nemmadi Project.

(d) Bring out the major recommendations of the High Power
Committee for ‘Redressal of Regional Imbalances (HPCRRI) in
Karnataka.

(e) Bring out the observations of Justice Sadashiva Committee on the
excesses committed by the Special Task Force.

3. Answer any four of the following questions. Restrict your answer to
50 — 55 words each : 5x4=20

(a)  Narrate the circumstances under which the Janata Party came into
existence in the Indian Politics. Trace the splits in that Party from
1873 to 1999 and the aftermath.

(b) Write a short note on the composition and objectives of Karnataka
Administrative Reforms Commission (KARC). What are its. major
recommendations on the Secretariat reforms ?
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T BB oD umdreEsnyesD DOLVTRY, NTRSA.
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4.

(c)

(d)

(e)

(f)

{4)
Examine the role of the Right to Information Act (RTI) in
reforming Indian Administration. :

Examine the issues involved in Amendment of Panchayat Raj Act
of 1993.

What are the factors that influence the effective participation of
women in the new Panchayati Raj Institutions ?

Comment on the concept of social justice with an example of
government policy in ensuring social justice.

Write short notes on all of the following. Restrict your answer to
20 — 25 words each : | _ _ 2x10=20

(a)
(b)
(c)
(d)

| (e)

(£
(&)
(h)
(i)
)

Inamdars

Royal Cofnmission

Unique Identification Authority of India
Gazetted ﬁost

New Flag Code of India

Objective of Lokayukta Act 1984

Public Accounts Committee

Lokpal

Ashraya Yojana

PPP Model
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(h)
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D& DRI

2x10=20
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PART B

5. Answer any one of the following questions. Restrict your answer to
200 - 250 words each : ' 20x1=20

(a) Bring out the impact of ‘Global Economic and Financial Crisig’ of
2008 - 09 on the Indian economy. Highlight the measures taken by
the Central Government to overcome the crisis.

(b) Bring out the basic objectives and features of Karnataka’s New
Agricultural Policy 2006, To what extent does it help to meet
present challenges in agriculture ?

6. Answer any three of the following questions. Restrict your answer to
100 - 125 words each : ' _ 10x3=30

(a) Explain the objectives and achievements of NREGS in Karnataka.

(b) Discuss the Regional Disparities and Special Development Plan
2003 - 10 of Karnataka.

(¢) Examine the need for Second Green Revolution in India. Explain
the basic components of this revolution.

(d) Examine National Highway Development Project (NHDP) as a
major organisation in the development of road transport.

(e) Explain the salient features of National Rural Health Mission
(NRHM) Programme.

7. Answer any four of the following questions. Restrict your answer to
50 — 55 words each : - 5x4=20

(a) Explain the steps taken by the SEBI for healthy capital market
development in India.

(b} Discuss the strategy of inclusive growth adopted in the Eleventh
Five Year Plan of India.

(c) Explain the package of services provided under Integrated Child
Development Services (ICDS) Programme. _

(d) What are Non-Tariff Barriers (NTBs) ? How do they affect India’s
trade ?

(e} Write a note on Prime Minister’s Rozgar Yojana. :

(f) Highlight the role of Self-help Groups in rural women
empowerment. :
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(b) Foorevs Zp,edT TTIMN Boriw DR wkyh odeexs 2003 - 10,

8 b3 Wl

(c) oRUITY 2TEIe TATY 39,08 553&3:23@%‘95:’ e:m’s’ =03 TOdeda,
F,03030 TRV we’ﬁno&c’a&eamd BOBTTR, ;mm

(d) o3 =eor wab%%cm AL m%ﬁoﬁ: Bogd e.-ae.‘;la%% Boodpesodw
(NHDP) 2,000 Zasos ".-dcr'éc:.d:mﬁz:&b@c‘:fa‘g:t BO3eOR,

(e) TR eoD mRMer wtaery Nodtrt (NRHM) sobegads Sps s,

2!9

DWOX.
VNS OIRPoTA ey, IJINER wugdi. JBodeom  wwgd 50 -55
TENET WETT03T e ¢ 5xd=20

(a) RTITY e;ed@en‘éa’dmcs’ Aol TADEE abacbﬁé% eaﬁ)%gmﬁ, SEBI
a’;jﬁqao&daa’ FEONTRY B0 WA,

(b) 2nUSE mIgowde TowRary oletxIon wYIRABLYLRNTNS
RIROF W3ewedrtod (inclusive growth) SoZ @y, B0 WA

(© =, 22 ePmy ReSnd (ICDS) SCHETDE AODY RN
oA ORI ﬁeaﬁn‘v@{ WD,

(d) Non-Tariff Barriers (NTBs) @ozm3esh ? yn08n aeon ed wsg)
et SO @Q’Ubé'ﬂ ?

(e) S w03 oNTT Bwezsfrao® odeensoday, DO 3T, ch?d'bb

B M HLYoPT ROeISHRY FITCD  HeNY I
SosT,0BNYRY, BV
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8. Write short notes on all of the following. Restrict your answer to
20 - 25 words each : : ' 2x10=20
(a) Kissan Credit Card (KCC) '
(b) dJal Nirmal Project
{¢) Karnataka Knowledge Commission
(d) Planning Commission of India
(e) Child Labour
(f) Sarva Shiksha Abhiyan
(g) .Yashaswini Health Insurance for Farmers
(h) Service Tax
(i)  Special Economic Zones (SEZs)
(1) Rashtriya Swasthya Bima Yojana
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B. 29NS comyndne sohasd wddhd. Z8cieom eVZoRR 20 Dol 25 ™oy
080D doeiesd.

(a)
(b)
(c)
(d)
(e)
ey
(g)
(h)
(i}
)

e’ 063 safe (KCC)
BO TER Joodeewds

FOOE LT S woleen

LRUEE odecxme wodeen
LROBTIRET ol

nIE bﬂ“ 33OV

D:ja’f)mh 05325’2;5??) esd.raen;s 2
xew 2on

DIex wHrF Foodnsd (SEZs)

ca%eoi: ﬁ%@jé QaR odeems

2x10=20
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10.

11.

{10}
PART C

Answer any one of the following questions. Restrict your answer to
200 — 250 words. 20x1=20 .

(a) Give an account of agro-climatic regions of Karnataka.

(b) Which are the major wheat producing regions in India ? Describe
the main characteristics of such regions.

Answer any one of the following questions. Restrict your answer to
100 — 150 words. . ’ 10x1=10

(a) Discuss the major irrigation projects of India.

(b) Which are the major industrial corridors in India ?

Answer any fwo of the following questions. Restrict your answer to .
50 words each. 5x2=10 -

(a) Discuss about the petroleum production and imports' of India.
(b) Describe manganese ore reserves in Karnataka State.

(¢c) Write a note on cloud burst.
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won C

8 TYNT oNJPITTH wold TER ¢vgda. A, $vgs 200 - 250 Ioner

T TodT23e3.
20x1=20

(2) BFIEWFE A - Taorwed B ReBNYIY, DOIod LTTTA wWIAWD.

(b) PTBEY AR WTB[oH [ED JFeTrEd omas@ ? Q03T
Daffalda i m‘waaé e.:a’ NI aﬁsésﬁ;

8 INT IP[YTOTTR word JFA evZoR. D, ¢uZT 100 - 150 Jurer
20T To8TLe B>, 10x1=10

(a) PUBE BE0a WeTIRO JOOIBERINIY, HOD WA,

(b) RUSE &0 %ma@ QRPNNT (FD TN cSadey ?

& BN CIRPTORTL VB> TFNOR K0IOR. DI, LIT I 50 Tuned
EETEoTLeD. 5x2=10

(a) HRUSE Bdatdodo IRBI BB EDRNYRY, HOD B,
(b) BTELT TR SWEMICT® AT D%ea:’rfe.* 21} DDA,
(c) =egFRaced (cloud burst) & 8203 35l wIddD.
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PART D

12, Answer any one of the following questions. Restrict your answer to -
200 — 250 words each : - 20x1=20

13.

14.

(a)

(b}

Discuss the effects of nuclear power plants on the environment and
its mitigative measures. : |

Biotechnology is said to be the technology of the future. List out
the * objectives of the Biotechnology policies adopted by the
Karnataka Government since the year 2000, and give an account of
the steps taken by the government.

Write brief notes on any four of the following. Restrict your answer to
100 - 120 words each. 10x4=40 -

(a)
(b)
(c)
(d)
(e)
(f)

Write short notes on all of the following. Restrict your answer to
20 — 25 words each.

{a}
(b}
(c)
(d)
(e)
(1)

(g)
(h)
()
()

Rain water harvesting .

Stem cells -

Gene therapy

Satellites

Carbon nanotubes

Optical fibre in medical diagnosis

9x10=20
Chikungunya Virus
Solar Energy

Chandrayan—H

Kishere Vaigyanik Protsahan Yojana (KVPY)
Bio-Informatics

National Institute of Mental Health and Neuro Sciences
(NIMHANS)

Central Food Technological Research Institute (CFTRI)
Bio-fuels
Skin cancer and Ultraviolet rays

Nanotherapy
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12, 390 omq;mcsm womy [T wvI0OR. AT, o 200 dom 250 T[ENY

fogondTeiend - 20x1=20

() ToORCE oeed e :acfasf ma’dﬁvb OLDEIREE TOBITINTRY, R
aynd SeSBody a’aa’n mwm IOy BOToS Wir k.

{b) aﬁaa’ 303&335?& e,iam’cf 303%36 a0t Jegesrvgd. 2000
fanaao‘baomc’oe:)?\a TUOEEIT RFETLY) eohea‘b&dsﬁ zias Bogpse s Nedne
FLoPNTRy SUTPR DR TFETH ErioRTH smn’e:m acmwz,

13. 29NS CIRPHEETH s, OFoHNY wR sLUTed O, BBoleowd
w0gose 100 Dor 120 TENY MIonorles. 10x4=40

(a) &H% O FpodR

(b) o8 Fee3ned (Stem Cells)

() BePTD

(d) IRBAD (FEIGEFTND)

(e) ROTROT FABRCLIRRITNE

(0 Fmseod Swert TZoDQ my3e0d DV

14, 29NT SLRHTIONS SO OB, FBA3AO EVITHR 20 OoF 25 TN
D BoHATLeD. 2x10=20

(a) wWBdT® O FOR
(b) = 3
(¢) Womoins 11
(@) $3ntT 5 dE dpemEs oleend (KVPY)
(@) HDT TS BoZpRS (Bio-Informatics) |
(® oog fod SRRET wlacr, ThE SO Hupany of (NIMHANS)
(8 Feopgod eBT S Rodetgs g (CFTRI)
M) WD AN
(i)  UET RIO® DB BFTY FTLNW
() wmBeedoe (Fydee ¥id)
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T8 WIOT gy WaRIPA & o FRToDg
SeRRRAOVY &80 VG ROFERED.

Note : The_ English version of the instructions is printed on the front cover
of this question paper.



